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Ta. 14,500 = 10
6,000+ 100 = 60;
21,0001,000=21
20.51.300= 100= 513
51300 10= 5130

30, 48,000 = 1,000 < 6,300 = 100
a.Tve

1b.7.100 < 10=710;
4500 = 100
33000 1,000 = 33

46,000+ 10 = 4,600
35,2300 =100 <530 = 10
b False. 45,000 = 100 = 460;
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5a. 42,000 = 10
42,000+ 100 = 420

42,000+ 1,000 = 42

60.72,600 = 100 =726

72,600+ 10= 7,260

7a. Various answers,for example:
(c) 64,000 = 1,000 < 84,700 = 100;
99,000+ 1,000 < 84700 = 100

8a. True

5b. 84,000 + 10 = 8.
84000+ 100 = 840;
84000 1,000 =84
65.29,000 = 1,000
29,000+ 10=2,900
7b. Various answers, for example:
2850 10> 7,200 = 10
7200+ 10> (€) 32,300 = 100
8b. False. 12,000 = 1,000 = 12
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9a.2,100 = 10 = one hundred and eleven
tens;

2100 100 = one fen and eleven ones:
2100+ 1,000 = two ones and one fenth
100.2340+ 100=23.4
2340+10=234

11a. Various answers,for example:

() 16,000 1,000 < (<) 23,800 + 100;
()16,000 = 1,000 < (5) 32,900 = 100
120. False. 64,000p = 10 = 10 = 640 o
2640

Greater Depth.
95.4,700 = 10 = three hundreds and
seventeen fens

4700+ 100 = two fens and wenfy-seven
4700 = 1,000 = four ones and seven fenhs.
10b. 540+ 1,000 = 0.5¢

540 100=5.4

11b. Two possible answers:

(€)17,400 2 100 = (6) 1,740 = 10;
()1740:100= (@) 174 = 10

12b. True.
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1a. William is incorrect. The calculation
should be 15,000 = 100 because fhe
answer shows 150.

2a. Gary has divided the number by 10
instead of 100. He needs fo move the
digits one column further. The correct
answer s 548 ot 5,480.

3a. Various answers, for example: 14,000:
50,000; 32,000

1b. Holly is correct the calculafion is 7,800
=10 because fhe answer shows 70.

2b. Sofia has moved the place value
‘Counters fhe fhree columns fo the right o
divide by 1000 but she needs one more
‘ones counter fo make the correct answer
o127 not 26.

3b. Various answers, for example: 30,120;
2220032100
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4a.Sinead is incorrect. The calculation
should be 32,000 = 1,000 because the
answer shows 32

50. Daniel has divided by 1,000 instead of
100. He has moved the digifs one column
foo far. The correct answer i 620 nof 62
60. Various answers, for example: 25,000;
22:300; 30,400

4b. Luke is incorrect. The calculation
Should be 45,200 = 100 because the
‘answer shows 452.

5b. Rose has mulfiplied instead of dividing.
She has moved the digits one column fo
the left and not fo the right. The correct
‘answeris 740 not 74,000

6b. Various answers, for example: 27,000;
18,000: 36,000
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7a. Jenny is incomect. The calculation
should be 4300 = 10 = 10 because fhe
answer shows 43,

8a. Leah has swapped the fenths and
hundredths around. The comrect answeris
2.45km not 2.54km

9a. Various answers, for example: 71.000:
53,000; 35,000

7b. Angelo is incomrect. The calculafion
should be 32.000 = 10+ 10 + 10 because
the answer i 32,

8b. Dan has divided the number by 1,000
rather than 100, The correct answeris
£27.40 not £2.74

9b. Various answers.for example: 30,600
52.200; 41,400




